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1.

The number of values of x satisfying
100

X+—>50, wherexisa namral number

X
less than or equal to 100 is

{2 St

2.

30

®) 53
(©) 55
(d) 57

What is the sum of digits of the least
multiple of 13, which when divided

by 6, 8 and 12 leaves 5, 7 and 11

respectively as the remainders ?

@ 5

(®) 6
) 7
(d) 8

A milkman claims to sell milk at its cost
price only. Still he is making a profit of

20% since he has mixed some amount

- of water in the milk. What is the
_ .pei'ee_ntage of milk in the mixture ?

. What 1;5 _\!4+\/4-x/f+ 4 -

(@) 2{;0 %

b 75%
©) 80%

equal to ?

B-ABVB-O-GPU - A

V1341

2

{c)

d o

. The largest natural number which
divides every natural number of the form

(" ~n)Xn—2), where n is a natiral
number greater than 2 is

Lo :

(@) 6

® 12

(c) 24

@ 48

. The average of 'm numbers is n and

the average of » numbers is m’. The
average of (m +n) numbers is

@ mn
) m+n
© mn(n? + 1)

d)  mn(n* + - mn)

. The digit in the units place of the

resulting numbei of the expression

(2341 + (234)1 s

(a) 6
) 4
(c) 2

d o




100

1. x+-—>50 sﬁ agrx 10037 100 & T4

t':m“wrh:% H@Eaﬂﬁaﬁxﬁinﬁr
R EEm R

- (@ 51

(b)) 53

{c) 55

d 57
.13 %mwwaﬁ,ﬁﬁﬁﬁas

AR 129 e fomar g & s s,
“750% 11 YwE s E alaﬁaarzﬁmﬁ

o da

(@ 5
b 6
© 7
@ 8

. TF 3 Pt gU W ¥ AR g W

9 FT q@T HT & | o 99 o 3@

. i20% T 9 WTE B ¢ WifE 3@ gy

% ot Y 3o A P ) R
7 & whvre Rt 2 7

@ —%

3

V13 +1

(©) >

@ 0

. (7 ~n)(n - 2), 5l » 2&@#-%@&

2, % VIR AW TN s )
FE A geTm TAquiE #9617

(@) 6

o 12

(ﬁ) 24

d) 48

I.mﬁ'@Tﬁaﬂﬁﬂa‘ﬁ‘%ﬁ?nﬁ@lﬁﬁ
-EBTSﬂ'H'cl'm‘%I(m-i-n)ﬁ@ﬂEﬁ'qﬁGﬁ'ﬂﬁ
TR

(a) mm

(b)) m+ nz_. |
(c) “mn(m® +r7)
(d) mn(m®+ " — mri)

7., ST (234)‘“" + (234)'“'-aﬁt'wﬁwﬁ’r e
1 W F W F A Ty R

(a) 6
®) 4 |

2

@ o
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8. If x =+3++/2, then the value of

10.

© =

L1,
X +x+—+—3 15
' X X

-

(@) i‘OJE

) 2043
- (©) 1045

i @ 2032

The value of
11 1 N

- + + +..... + 15
Ix4 4x7 Tx10 16x19 .

(@ —

®» 2

@ =

Two trains are moving in the same
direction at 1-5 km/minute and 60 km/
hour respectively. A man in the faster
train observes that it takes 27 seconds to

cross the slower train. The length of the

slower train is .

'B-ABVB-O-GPU - A

(@) 225m

(b) 230 m

- (©) 24(-)m. .

() 250m'

11,

: 4 L
A tin of oil was - full. When 6 bottles

' of oil were taken out from this tin and
. 4 bottles of oil were poured into it, it

Q) 45

3 ) S .
was full. Oil of how many bottles can
the tin contain ? (All botiles are of equal
volume)

‘@ 35

(b) 40

@ 50

12

 If the ~same number when divided '_
by 11 leaves a remainder m and the

A number when divided by 7 leaves a

remainder 3 and the resulting quotient
when divided by 11 leaves a remainder 6.

resulting quotient when divided by

7 leaves a remainder n. What are the
values of m and » respectively ?

(3 1 and 4

) 4and 1

{(c) 3and 6

© {d) .6 and 3




8. AR x=3+2, N x3l+x+1+i3 CIN
x x*

TR TR 7

@ 103

® 2073
© 1032

@ 20V2

-1 1 t + 1 -
16x19

+ +
14 4x7 Tx10
e HJT 2 7 '

@) =

10.

(b)—-—

@ —

© %

3 YRt w15 km/BEe
" 60 km /¥eT & Twr fewn # o £

& f el Yamdt A e dear @
o6 et @i arelt e F AR A d
27 €% @A § | Hiwt TR T e

-aﬁmﬁw%?

11,

(a) 225m

(b) 230m

(&) 240m

() 250m

_ﬁaﬁﬁﬁwgw@mlﬁ%@.'
- # ¥ 6w A9 fe T stk o

.4@33%3131@-&3?%@@[
mfRITR AT mame?
(wsit Saedt F1 JEEE THE R)

(a) 35

(b) 40

" (c) 45

12.

@ 50

et e =t afz 73 FRr R sm

W@ 3 Y wwar 2, AR ARy oRom

awee &t 118 Fonfe fem w6

YR T £ aft S wEr @ 1A

fafoe forar ST &1 YR WA §

3k aRumtt TE Bt o 7 ¥ frenfa

%mmqa‘lni’mﬁraw%lmsﬁtn :
F FEE: AW T g 7

() 13R4 |

® 431
© 396

() 63R3
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13.

Consider the following in tespect of the -

. (x -1y’
equation y=-2"_7_
' x~-1

Ly=1ifx>}

2 y=—-1lifx <1

3. y exists for all values of x

Which of the above statements is/are

. correct ?

14.

15.

(a) 1 only

®) 2only

(¢) 1and?2only

@ . 1,2 and 3-

If (c+ 1) is the HCF of Ax2+Bx+C

and Bx? +4x + C where A #B, then the
value of C is

@ 4
b B
(¢) A-B

@ o

The seven digit -number 876p3iq is _-
- divisible by 225. The values of p and ¢

can be respectively -

@ 9,0

®) 0,0

| (c) 0,.5 )

© @ 9,5

‘B-ABVB-O-GPU - A

16. If a, b and ¢ satisfy the equation °

17.

18.

©-3x%+2x+1=0 then what is the

value of l~l~-1'+l ?
a b ¢

4

a) —-—

@ >

b 2

© -2
1.

d -

()_ >

A and B are two taps which can fill

‘a tank individually in 10 minutes and

20 minutes respectively. However, there

- i8 .a leakage at the bottom, which can

empty a filled tank in 40 minutes. If the
tank is empty initially, how much time
will both the taps take to fill the tank
with leakage ?

(a) 2 minutes

(b) 4 minutes

(c) 5 minutes

(d) 8 minutes

‘Which one of the following is correct ?

@ v2<46<¥a

® V2>46>34

{c) HE<J§<%/Z

(d) {/E>J§>%/Z_




13.

P (x 1) 3 &

ﬁmﬁﬁawﬁaﬂaﬁﬁq

_ 1.y=175|ﬁ‘x>1

2, y=-1 Fex<1

3 x % @it AR ¥ Ry R
?

Wi?ﬁmﬁﬁﬁaﬁﬂm/ﬁaﬁ%/%?
@ aﬁm
() Fa42

© 12

S 1,23R3

14.

TR Ax?+Bx+ C 3R B+ Ax+ C v,
& A # B, WeTH WIS (x+ 1) R @
CH | FT1-8 ?

@ 4

15.

® B
{(c} A-B

@ o

s B T 876p374;225 X WA
2 pdR o F AR wHY: = A A
g2

(a) 9.0
® 0,0
) 0,5

@ 9,5

16. a&a,bafacaﬁwf 3x2+2x+1 =0

< s w &, A~ +;+ 1 7 #0

(a) _E_

B 2

© 2

1
_(d) 3

| ,17.Aaﬁx3i1#r%a*tqm'éeﬁaﬁm—

s T 10 fre 3k 20 fme 3§ )
TREIRBDT I IRE, &
w1 & T =1 40 e ¥ gt aR g
| afe FH amin # Tl 8, P
2 AR S oA e 2
(a) 21:‘4%2 |
b) 4 fme

(© s_ﬁ‘qﬁz

(d 8 frme

18, Frefifies § ¥ 2 T W@ 27

(a) _ﬁ<%<%ﬁ
) \Z>UE>VE
(©) 1/3'<\/—'<{/_
(d 4/3>J_>3J_

-ABVB-O— GPU A
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19,

20.

If k;x~y+2'z - where

The value of a single discount on some"
amount which is equivalent to a series of

discounts of 10%, 20% and 40% on: the
same amount, is equal to

@) 432%
®) 50%
(©) 56—’8%
@ 70%

—,2$x‘$ I',
-1=y=<2 and 3<z<6, then which

‘one of the following is correct ?

(@) 0sks9

® Ssk=sll

() 2<ks1s

21,

22,

- Which of the following statements are'

@ 2<kstl

The number of pairs (x, ¥) where x, y
are integers satisfying the equatlon

21x+48y=5is
'.(a) Zero
(b) -One
'I(c) Two

(d) Infinity |

Let x and y be positive integers such
that x is prime and y is composite.

correct ?

1. (y~x) can be an even integer.

. 2. xy can be an even integer.

3.0-5(x + ) can be an even integer.

'B-ABVB-O-GPU - A

. Select -the correct answer usmg ‘the

- 23,

code given below :

(@) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 étnly'

@ 1,2 and3

Let x and y be positive integers such

“that x> y. The expressions 3x +2y and
" 2x+3y when divided by 5

leave
remainders 2 and 3 respectively. What
is the remalrlder when (x - y) is divided
by 57 '

(a) 4.

24,

b) 2

{c) 1

@ 0

In a race A, B and C take part. A beats
B by 30 m, B beats C by 20 m and

" A beats C by 48 m, Which of the

following is/ are correct ?
‘1. The length of the race is 300 m.

2. The speeds of 4, B and C are in
the ratio 50 : 45 : 42,

. Select the correct -answer. using the
~ code given below : '

(a) 1 only

®) -201i1y _

(c). Both 1 and 2

(d) Neither 1 nor 2




‘19,

freh ofir % e g A W R R
TR R 10%, 20% R 40% &1 frefear

WHEFRRE 7MR? .
@ 432% |

B 50%

20.

- 21,

©) 56:8%

{d 70%

g k=x-y+2 W@ -2<€xs<1,
~1 £y <23R 35256, M frafalea #

HF A U GE B 7
@ 0<k<9

® S<k<il
© 25k<14
@ 2<k<l

HTﬁH?(UTZIx+48y saﬁa@mﬁaﬁ |

Tﬁ(xy)iﬁ' aﬁxnga
forartt @ 2 .

. (@) ¥y

® &

© 3

22

@ &

. A T x AR ¥ TR ¥
%%xmﬁﬁymﬁlﬁﬂﬁﬁﬁ_

wudt F @i W/ wd /g

L (r-x) T T B ww R

2. xp OF WAQUTE € WA B

3. 0-5(x +y) TF TAOTH & Rl

N L T s .0

T

(@) _a?ara_raﬁtz

(b) ¥ 2 3R 3

._.(c) %«m_laﬁu
@ 238Rs

X

. T R x #R T IR ¥

%.ﬁﬁ_x>y%_l k) e 3x-§-_2y'3ﬁ'{
2x+3yHR 5A Fmfw R e @

-._amr 28R 3 dwew FEY E oW
C(x- y)a?rsﬁﬁmﬁm%mm?hﬁrm o
wm R |

24,

@ 4
®) 2
© 1
@ 0

T AR HALBARCTT AW E 4B

 F 0mDS D 2 Y, B,CH 20m

IS BRI L CH BmUB -

- a’lsim%u_ﬁwrﬁaﬁaaﬁaaam/ﬁva

R/E?

agaﬁmﬁsoom%l

2.4, B CH T 50:45: 42%'

Wﬁ%l

ﬁﬁﬁaﬂﬁ@zmuﬁwaﬂﬁm

3
(a) ¥ 1

C (b)) &2
(@ 13R234

@ A, &2 |
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25 If the roots of the quadmtlc equatwn' ’

- 4x—log)N="0 are all real, then the
mlmmum value of N is

1
(@ 100"
|

® T -

1

© 10000

d) 10000
26. A motor boat, whose speed is 15 km/

hour in still water goes 30 km down-

stream and comes back in a total of
4 hour and 30 minutes. The speed of the
stream is

(a) 4 km/hour

() 5 km/hour
(c) 6 km/hour
@ 10 kan/hour

If 4 men working 4 hours per day for

4 days complete 4 units of work, then

how many units of work will be

cothpleted by 2 men working for 2 homs
"per day in 2 days ?

27.

(a] 2

® 1

©

M=

00 |

@ &

B-ABVB-O-GPU - A
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'28. By increasing the speed of his car by
15 km/hour, a person covers 300 km
distance -by taking an hour less than
before. The original speed of the car
was o :

(a) 45 km/hour
| _ (b) 50 kan/hour
(©) 60 km/hour

(@ 75 km/hour

29. If m persons can paint a house in d ,

days, how many days will it take for

(m+2) persons: to pamt the same’
house'?

(a) md+2

(b) md-~2

| m+2
© =T

md
m+2 _

(d)

30. If 2:5=3:5 and b:c=7:8, then
2a:3b:7¢is equal to :

-

(@) 42 : 105 : 320

. (b) 15:21:35

- (c) 6: 15 : 40.

d 30:21: 350




25.

qﬁﬁﬂ'ﬁﬂﬁﬂw‘{ﬂlf dx— logmN 0%

B R TS € FﬁNaﬂﬁEﬂﬂﬂﬁ

O

, ()

26.

(@

T 8 7
R
100 )
1000

1
10000

(d) 10000 -

o e, ﬁwa-q—ma@gqmﬁrﬁ-
15 km /et &, arr ) Rt § 30 km IR
: %aﬁ?grerm%aﬁnoﬁazﬁmmﬁﬂ
. %Im‘mﬁmw%? -

(@) 4%/

® 5 hh/sizr'

- () 6km/=

@10 'km'/sia-'

27.

2wl wd wn, 2Rl Reedt

o 4o sffier 4 aed h, 4R

# 4 od g wRA €, @ §q =iw

I U

{a) 2

® 1

1
(<) 5 |
1
(d) 3

11

28.

o s T TR A T 15 km /5

TR W 300mﬁq’laﬁq3ﬁaﬁgam

# uF o1 o wAa A qg A=Al R | IR

@ AW TR ?

- (a) 45 km /9T

) 50 km/d1

.ﬁ(c)',.66\k1.n/‘5'lE.T

@ 75K/

29.

2t m e T W A d B e

T g, a’f(m+2)aﬂ%ﬁq‘raﬁa€1mﬁ-a

| a?@ﬁﬁ»ﬁﬁﬁﬁaﬂﬁ?

@

@ md+2
) md-2 -

&g —

m+2

30. afc q:b=3:5 3k b:c.=7:8, RN
' %:Bb:?cmlm%?

“{(a) 42:105: 320

®) 15:21:35
© 6 15 : 40
@ 30:21:350
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31.

Two trains, one is of 121 m in lerigth

at the speed of 40 km/hour and the

other is of 99 m in length at the speed
of 32 km/hour are running in opposite
directions. In how much time will they
be completely clear from each other

from the moment they meet ?

32.

3.

@ 10s
® 1s
(c) 16 s
td) ?!l $

Three athletes run a 4 km race. Their
speeds are in the ratio 16 :.15: 11. When
the winner wins the race, then the
distance between the athlete in the
second position to the athlete in the third
position is '

(a) 1000 m

®) 800 m

{¢) 750 m

(d) 600 m .

-'f'he sum of first 47 terms of the series

'llllll]ll
+

F—F—_—— ... is
456456456

ROX!

NORE

a =

1
- (©) 5 .
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34, ,Which one of the following is correct ?

{a) (x+2)is a factor of _
: x4-63.)+12le—24x+32

(b) (x+2) is a factor of |
X6 — 12+ 2ax - 32

- (©) (x—2) is a factor of

o'+ 127 —24x + 32

. (d) (x-2) is a factor of

~ Xt 6’ — 126 + 24x - 32

35. 20% of a number when added to 20

becomes the number itself,. then the
number is

(a) 20
® 25
(c) SQ

@ 80

36. Consider the following statements :

a2l (1 2
1. 1+ tan 9:(1 tanGJ is true for
" 1+cot28 | 1-cot@ _ -

all 0<6<£, ozZ.

2 4

2. c0t9=-l—~ is true for 0 = 45° only.
tanf

Which of the above statements is/are
correct ?

_ (a) 1 only

(b) 2 only )

_ (c) Both 1 and 2

(@ Neither 1 nor 2




31

32.

33,

@ efeat, o R w121 m,
40 km /vizr #t I & oK A, Pt

T 99 m ®, 32 km/He H W A,
frda feanst & o W@ €1 s fem

34

¥ d, oot A AT A .
-{&m%maﬂwﬁ?

(@) 10s

o s

{c) 16s

@) s

M Red 4 km e A F | IR

16 15 1% yaTa A E | W B

Az i 9w g, @ T AR AW

Rt F A Al ot 2 7
@ 1000m."

@) 300m

(©) 750 m
@ oom

‘11 1 1.1 1 11
o b m—
M456456456

¥ WaW 47 WG AT TR 7

@ 0

| ©

® -

@ =

13

ﬁmﬁfﬁﬁﬁ%ﬁﬂmﬁﬂﬁ%?

-'(?‘) x e 68+ 1252 —24x + 32

aﬁgmquﬁ@z(ﬁz)% _
©) 2 +65-128+24x-32
W@Tﬁ@'ﬁ'(x+2)%

(o) X-6r +127¢ -24x+32 |

o TG (-2

B @ A+ 68— 128 + 245 — 32

35.

0T EEE (x—2) B

uﬁ%&’imﬁ:ze%aﬁ'zoﬁﬁgﬁq .
maﬁmaﬂw% N T T

Cmm o

@ 20'-

36.

) 25
© 50
@ 80

frefafn Fot W Rer Fifr :
L 2 _ 2
n l,-l-tanﬂz(l tanﬂ) it
~1+cot?0  \1-cot8,

0<B<-’§-, w%ﬁ:ﬁm‘w% |

2.'cote=-—1-¥,ﬁ e=4s'°% g
A %I
Gqﬁ?ﬁ@ﬁﬁaﬂ“m/ﬁaé%/%?..
(a) ¥ 1
®) w2
(©) 1.aﬁz'2_'qﬁ

@ A@LTR2

3
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37. If x= acosG and y= bcotﬂ thenm - 40. If 6 is an acute angle and sinBcosf=.
(ax by )(ax +by') is equal to 2c08°8 — 1:5¢0s8, then what is sinf
I equal to 7
(@ 0 L
; . _ _ @ Jg_l
U 4
© tan’0 L 1=45
' b) ——.
. 4
(@ sin’6 ‘
, © V5+1
. | T4
38, cos.‘ﬂ is equal to [whe_rc'-?#gJ o -
1-sin8@ = . 2 J5+1
| @ -2
@ el | o -
' tang+1° ' : - 41. Consider the following statements :
' 1. Sin66° is less than cos66°.
) 1+sing@ , _ _ S
" cosB - | © 2. 5in26° is less than cos26°.
_ Which of the above statements is/are
- (©) tanf+1. correct? . :
_ tanf-1. T
R @ 1 only
@ 1+'.COSB (b) 2 only
sinf
' (¢) 'Both 1 and 2
-39, 1f - ' (@ Neither 1 nor 2
tan(x+40)°tan(x +20)°tan(3x)°tan(70— S . .
x)*tan(30 - x)° = 42. If 4 and b are positive, then the relatlon
thcn the value of x is equal to : ,
2a+3b
_ sin@ = is
i@ 30 P
P _ B : (a) not possible
T ® 20 ' -
o _ _ - (b) possible only ifa =4
© 15 (c) possible if a>»
@w. . (9 possibleifa<p -

B-ABVB-O-GPU -A = 14




37. A x= acosd I y=beoto @ . 40,7 @ T ﬂfﬁﬁw 2 ¥R smﬂcosf?—

(ax! - by Niax by )fm"ﬂ%w% ? 200839—15(3089 i’ﬁ sin@ ﬁﬁﬁ? TR
@ 0 : _
| N
o ® S @
) we LR
\ | ® 17\5-
(d) sin®6 - R
L .- © '\'E‘:l
" ¢cosf : ) ' o
.3-& — [rm 0+ ]ﬁmﬁ:m% A
g | @ ==
()-taﬂ9--1 | AR S o
Y o1 C 4 Prafafes e w e i ;
_-"-(b)' leeng . - o | L. sin66°, c_osﬁésﬁ.em 2
o s - 2. sin26° cos26° ¥ T ¥ |
e ol | R '_Wmﬁﬁﬂ?m/ﬁﬂéﬁ/?7 -
C o i+cosd I (b) FEATA2 |
9 e j . ', o
L N o) 1aR2ERE
39. 7R o | @ TRLAA2
tan(x + 40)°tan(x + _20)°tan(3x)°tan(?0 - :
x)°tan(50 - x)°“"1 42, afz a aﬁt b TS % a’r CCd
'EﬁxEFIWHW%? ' . 2a+3b
. : sin@ =
(@) 30 o |
- -(a)'wa'él%- N
) 20 ®) ¥ aN G & 9 a=b
(15 © #ﬂa%aﬁasb
@ 10 . @ mrq'%zr%aq |
. 1 - - : o |
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43.

An aeroplane flying at a height of

~ 3000 m passes vertically above another
aeroplane at an instant when the angles .

of elevation of the two planes from
some point on the ground are 60° and

 45° respectively. Then the vertical
- distance between the two planes is

- (a) 1000{«./5- l) m

() 1000@111
(c) 1000(3—@)m

() 300043 m

44.

A pole is standing erect on the ground
which is horizontal. The tip of the pole is

tied tight with a tope of length V12 m to

a point on the ground. If the rope is
making 30° with the horizontal, then the
height of the pole is

(@ 243m o

C® Wim
(¢) 3m

45.

- ®

©

@

@ m

If tan# + sec@ = 2, then tand is equal to

¥

(@)

B[t

E-N ]‘.u.

MW

5
2 .

- B-ABVB-O-GPU - A
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46.

A’s salary was mcreased by 40% and '
then decreased by 20%. On the whole

- A’s salary is increased by

47.

48.

(@) 60%

b} 40%

©) 20%

@ 12%

A number consists of two digits, whose
sum 18 7. If the digits- are reversed, the

. number is increased by 27. The product

of digits of the number is -

@ 6

). 8

© 10
@ 12 -

In a race of 100 m, 4 beats B by 4m
and A beats C by 2 m. By how many
metres (approximately) would C beat B
in another 100 m race assuming C and B
run with their respective speeds as in the
carlier race ? :

@) 2

) 204

) 208

_(dj 32




43.

3000 m & FE Ie T @ ww

q TE G IRAT ] T A AR e

- wwaw & fe g & wwe 60° o 45°

' @ 1000(+3 ~ 1} m

44,

®) 1060«151_1‘1 K
© 100Q(3-J§)m

@ 300043 m

F gomw B 1§, @t QA w9 SEmt
_%aﬁﬂﬁﬁraafm-@w%? |

TE @ %mmﬁﬁw% g

T 9 /12 m T B U S e

& ot forg & Wi R =i R AR

3, éﬁa%smmaﬁwwr@%

aﬁ@'ﬁaﬁ’réﬁﬁw%? |

) 2Bm |
® 32m

() 3m

45.

o

®

_(d)'J"m-

qﬁtan9+secﬁ 2, Fﬁtanﬂ ﬁ?ﬂaiﬂ'{'ﬁ'{
%? :

Mlw bl bW

(©

N fun

(@

17

'46

Aa:raaam%aamwaﬂzﬁ:{zo%
ﬂamwrm@—c-rﬁamAa»‘raaﬂﬁrﬂ

(a) 60%

() 40% i

Q) 20%

47.

@ 12%

Emﬁﬁﬁﬁ'aﬁ%,ﬁﬁmw |
72| IR = F W WeR T]A Ry
s @ " # 27 H i o wmt 8

CHEAT & AR ® YO R

@
b 8

'.(_0)

48

10

@ 12

. 100m# @ s H, 4, BR 4mD
BT § AR 4, CH 2 1S WEa R |

it s 100 m i 3 #, 9B AFQ TW

 fFCIRBIFMI M AT AN ER

e 9§ of, caaﬁﬁmﬁrﬂam

@3 g

@ 2
) 204

 (c) 208

@ 32
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49.

50.

In an election 10% of the voters on the
voter list did not cast their vote and

60 voters cast their ballot papers blank.

Ther¢ were only two candidates. The

winner was supported by 47% of total
voters m the voter list and he got 308

votes more than his rival. The number of
voters on the voter list is-

(a) 3600

(b) 6200 '

(e) 6028

d) 6400

Consider all positive two digit numbers
each of which when divided by 7 leaves
a remainder 3. What is their sum ?

(a) 661

"~ (b) 666

51,

© 676 -

@ 777

A pipe with square cross-section is

supplying water t0 a cistem which was

“imitially empty. The area of cross-section

is 4 cm’® and the nozzle velocity of water

is 40 m/s. The dimensions of the cistern
are I0mx8m=x 6m Then the cnstern
will be full in .

K (a)' 95 houts .

(b} 9 hours
(c) 8 hours 20 minutes

(d)- 8 hours

B-ABVB-O-GPU - A
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52.

53.

A hollow cylindrical drum has internal
diameter of 30-cm and a height of 1 m.
What is the maximum number of

cylindrical boxes of diameter 10 ¢m and

height 10 cm each that can be packed in
the drum ?

(a) 60'

by 70
© 80
@ 90
Thé 'speeds; of three buses are ‘in the

ratio 2: 3 : 4. The time taken by these
buses to travel the same distance will be

" in the ratio -

- (_a) _2':3:4'

) 4:3:2

54.

(o) 4:3:6
@ 6:4:3

‘A square and an equilatex;al tﬁangle have

equal perimeter. If the diagonal of the

square is 1242 cm, then the area of the
tnanglc is

- (a)‘ 242 ‘om?

() 2443 om?

(c) 483 cm?

@ 64v3 om’




e

49.

forelt wagrm # waerar gt 10%14%1?:3131‘1. B

X s WA e I R 60 Fagras X
9N HIWE 1 @l B3 A | FEa

- IwiER A | R # weREn g F g
TATAT & 47% F qHe frem i @

I wiagl @ 308 T A W g |

m@ﬁmﬁﬁaﬁmﬁaﬁ-

: a
-(a) 3600
‘(b) 6200

{c) 6028

(d) 6400

50

aﬁaﬁaﬁﬁ_aﬁmﬁwﬁqi
fer Ay, fim & & s w1 79

" farmfor w0 W S 39 |e=mzhm
wn g7

(@ 661

51,

b) 666
(c) 676

@ 77

FiER IpRa TRede A U AW T

- s,

#H, I s amw # @, O A

qff w1 orged wRede @ A
4om’ § R TH w1 g AN (At
M) 40 m/s 1 TR Fr

© 10mx8mx6m g1 W J8 ¢ feam

W R RS ?

(@) 95 =5

vy 9 W |
() 8 wier 20 fre
(d 8§ ==

19

52.

qmmﬁaaﬂm;nam amﬁmaum
BOCmSﬁiﬁFslm% Iﬂﬁaﬁmcmw :
R 10 cm $HTE 99 AR 6t H,
rvhﬁﬁgwﬁt@mm% sftrere s
zfq'[%? .

(a)_ 60

) 70

{c) 80

@ %

T 23 4% A
1 9 TR T g 7 R 3

- wnr fem agaE # e e

(@) 2:3:4

by 4:3:2

' (c) 4:3:6

54.
mam | AR W e 1242 am

@) 6:4:3

w o o G wEE P R

L

(@) 2442 cm? |

®) 24\/_5 e

(c) 483 om?

(d) _.64\/5_ em?
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| ©)

56.

- cost of fencing the area at the rate of

A boy is cyclmg such that the wheels
of the cycle are making 140 revolutions
per minute, If the radius of the wheel is
30 cm, the speed of the cycle is

(a) 155 km/Hour

(b) 15-84 km/hour

16 km/hour -

(d) 1636 km/hour

There are 437 fruit plants in an -orchard

planted in rows. The distance between
any two adjacent rows is 2 m and the

distance “between any two adjacent !

plants is 2m. Each row has the same
number of plants.- There is | m clearance
on all sides of the orchard. What is the

Rs. 100 per metre ?

(@) Rs. 15,600

(b) Rs. 16,800

(¢) Rs. 18200

" (& More information is required

57.

B-ABVB-O-GPU - A

ABCD .is a parallelogram with 48 and
AD as adjacent sides. If Z4=60° and

AB = 24D, then the dlagonal BD will be.
equal to _

(a} «EAD
®) 34D
(¢} 24D

@ 340 .

20

T

58. The point O is equidistant from the three
~ sides of a triangle ABC. Consider the-

following statements :
L. LOAC + LOCB+ £OBA=90°
2. ZBOC=24BAC -
3. "ﬁﬁe -Mexlldiculz;rs drawn froml' aﬁy

~point on OA4 to AB and AC are
- always equal

’ hWhich of the above statements ~are

59.

commect 7
(@) 1and2 only

®) 2 and 3 only

(c) 1and 3 only

@ 1,2 and 3

_ Consider the folIowing ‘statements :

L If the height of a cylinder is
doubled, the area of thc curved
surface is doublcd

2. If the radius. of a hemiépheri'cal
solid is doubled, its total surface
area becomes fourfold.

Which of the abovc statements 1slarc
correct 7 '

' _(a) 1 only -

| -(bj 20ﬁly

(c) Both L and 2

(d) Neither 1 nor 2




55.

o T T TR T e & 6

afEa F afed 140 wier wiy fre R

-mﬁ%lwﬁqﬁiﬁ%mmm% T'ﬁ

- 56,

o mﬁaﬁaﬁrww%? -

(a) 15-5 km/¥et
(b) 1584 km'/'e'ia‘_-'
(¢) 16 km /9

@ | 16:36 km /%1

T A 437 B P e

R W § | Rl O freadl qheat &

o Y g 2 m AR Rt Q) it e
CH A R g 2m 1 R e ¥ e

W T &) SR & o R/ I m

I € | B 100 WY HieX F R 9,

W 8 W A TR S S 2

(a) T 15600

(b)) T 16800

57,

(¢} & 18200

(@ mwﬁmm%

ABCD T AR I 2 ﬁmaﬁ AB
3R AD oy wond ¥ 1 4R 24 = 60° AR

AB=24D, W Frl D B wWrer

G
© (a) I'\EAD'

() V34D

(c) 24D

@ 34D

21

38.

farg OTF B ABCHY W et A
ngm%l ﬁmﬁ%amﬁmﬁ%m

1. ZOAC + ZOCB + £OBA=%0°

2. ZBOC=2/BAC

3. AB 3R ACT oﬁ%a“rﬁgﬁﬁ%_'
g A9 §ed A ®

: aqvj-rﬁam‘iﬁ#rrm/ﬂﬁ?ﬁ%/%?
-(a)WNﬂzz
| () ﬁ‘ﬁmaﬁt:’,_

{c) Fa=t 1 AR 3

- -(d) 1,29R3 .

59,

ﬁwﬁf@amﬁﬁmﬁwﬁaﬁﬁm:

1R T A A T A
- 1Cil a’tazﬁggmémzﬁgm
S

2.uﬁq$artﬁﬁa,zﬂwaﬁﬁwa‘f=ﬁr
& AR R, A E FA Y8 SEA
TR AW @R

i w A A A R

' (a) ¥

) FE2
| ‘(c]-laﬁTZE‘Fﬁ'

(d) =r?h1=ré12
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60.

61.

62.

‘A large water tank has the shape of a
cube. If 128 m® of water is pumped out,

the water level goes down by 2 m. Then
the maximum capacity of the tank is

(2)
()
©
@

- S12m’
480 m®
324 m’
256 m*
The 'cit*cumference of a circle is 100 cm.

The side of the square inscribed in the
circle i is

(a) 5042 cm

®) 19 o
T .

@ 22
n

@ 10(:;/5 -

From the solid gold in the form of a
cube of side length 1 cm, spherical solid

balls each having the surface aiea

7' cm® are to be made. Assuming that

there is no loss of the material in the
process of making the balls,
maximum number of balls made will be

(a) 3

'_fb)4

B-ABVB-0-GPU — A

© 6
d 9 |

the
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63

Water is filled in a container in such a
manner that its volume doubles every
5 minutes. If it takes 30 minutes for the
container to be full, in how much time
will it be one-fourth full ?

(@) 75 minutes

b)

(¢} 20 minutes

15 minutes

(d) 175 minutes.

64.

30 metallic cylinders of same size are
melted and cast in the form of cones

having the same radius and height as _

those of the cylmders

Consider the following statements : -

- A maximumn of 90 cen.es '
will be obtamed.

Statement 1

The curved surface of the
cylinder can be flattened
in the shape of a rectangle
but the curved surface of
the cone when flattened
has the shape of triangle,

Statement [T :

Which one of the following is comect in
respect of the -above ?

-(a) Both Statement I and Statement II

are correct and Statement II is the

correct explanation of Statement I
(b) Both Statement 1 and Statement I
are correct and Statement II is not
the correct explanation of Statement 1

(©)

mernt II 1S not correct

d Statement I 1s' not correct but
Statement 1II is ‘correct

1

Statement 1 is correct but State-



60. T S TR 1 3 T AFR @ W
o #= e | 2l i ¥ 128 m® I TR e

61

AT R, A9 SR 2 m A S S

21 & N afrwam gma w0 27
(a) 512 .m"‘ .
(b) 480 m®

(c) 324’ _

(@) 256 m’

.0 79 B URR 100em® | 39 F T

e A g 2

(@) 50v2 om

o)

(©)

- 62.

(@

100
— {in
¥i1

5042
cm
7

10042
cm

T

| cm ¥t AT U F AER F D W
¥ 3@ AR ¥, fiewl whe @ s
a7t 7% om? B, s SN ¥ | TR AT

g & ¢ s f @ when F ww
= i T g @, A Fr orferean

TS T R ?

" (a) 3

() 4

(c) 6

@9

63.

64
- & ok 9 F B ok 39E ¥ o

feft fot % ot 1@ woR W S @
% v 5 fime & wea smaw g @
o & | 7 ek A A 30 P
&, Eﬁﬁﬁﬁmﬁﬂ%@m

W ST

(a) 75 fre

by 15 firme

(©) 20 fmz

d 175 fme
30mm%—'mgaa-amﬁaﬁﬁma.
Prem &k S aw a@a‘i%mﬁ
Cois iR SN ‘

Pt woi W frew i
FOA 1 : ufiEan 90 9 W@ B |

FA N : 9 F THIE O AT F

AR & quE fear o aFAT
?}RG VT F THIG IR G
s ' @ B o=
| AFR T 2 |
--"W%mﬁﬁwﬁmﬁaﬁw |
S R?

(@) a1 R T 1 AR ER E A

FAT 1. FA 1 H T wwrEem @

®) F 1 3R F99 10 i w8 € ik

: WIIWI@_‘H@Wﬂﬁ'
2 |

(c)Wlﬂﬁ'}%ﬁﬁﬁwnaﬁ

T ©

'(d)wmét'-rg"f%aﬁmwu

113'1‘%
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65. An equilateral triangle BOC is drawn
inside a square ABCD. If angle
AOD = 20, what is tan8 equal to ?

@ 2-43
l+ﬁ
4-+3
2443

®)
©
@

66. The

452 revolutions to move 2 km and
26 decametre is equal to

. .(a). 1% m

M 1Em |
(c), 2—% m
_(d; 2l m

If X is. any point within a square ABCD
and on AX a square AXYZ is described,

67.

~which of the following is/are correct 7

1. BX=DZ or BZ=DX

2. ZABX=/ADZ or ZADX = LABZ

Select the correct answer using the

code given below :
- (a) 1 only |
(b) 2 only
{(c) Both { and 2
(d) Neither 1 nor 2

B-ABVB-O-GPU — A

diameter of a wheel. that makes

24

68. The two adjacent sides of a’ cyclic
quadrilateral are 2 cm and S cm and the

~ angle between them is 60°. If the third
side is 3 cm, then the fourth side is of

length

{a) 2 cm-

() 3 cm

(c) 4cm

(d 5cm

Let A denote the set of quadrilaterals
having two diagonals equal and bisecting
each other. Let B denote the set of

quadrilaterals having diagonals bisecting
each other at 90°. Then ANB denotes

69.

(a) the set of parallelograms
(b) the set of rhombuses
(c) the set of squarés .

(d) the set of rectangles

70. A square is inscribed in a right iriangle .
with legs x and y and has common right
angle with the triangle. The perimeter of
the square is given by '

@ 22
x+y
o 2
x+y
(©) _y
' fx2+y2
@ 4xy

ey




— .

65

66.

67.

*F IR amfaa e W &) Ak ww

AOD =26, T 1an6 fres s 2w ?

@ 2-43- |

() 1'+_J5

© 4-73

@ 2+43

qaw%&am S R 2 km 3 26%mvﬁa
' aaﬁﬁztszqﬁmwm% =T FTE ?

(a) 12;’2 m

b 15 m

©) 2‘—5'1 m

d 2Z m

XﬂﬁABCD%?ﬁﬁtaﬁi%ﬁ%Sﬁt,{X

W G T AXYZ S Pt femr wrar 21
| ﬁwi%rﬁaaﬁﬁaﬁam/&ﬂér%/%?

\. BX=DZ M BZ=DX

2, 4ABX=AADZHTAADX=AABZ
ﬁ%ﬁﬁﬂ&@mmaﬂa@w
@ F¥ad |

b) mz'

(©) lsﬁ'{Zﬁ :

@ AdLAE2

. U T B BOC T T ABCD

63.

6.

v Tl T B @ Fw I 20m

3R ScmE ok 99 QA F T F ww

60° & | afy T w3 3em = wgd |
gmaﬁaaﬁw%? |
(a_) 2cm.

@ 3em

{¢) 4 cm
(d 5cm
Hﬁﬁﬁf‘{AEﬂi@‘{{ﬁﬁ%HﬁaaﬁwﬁT

2 R 3t fared T € o) T
@ Ruifm =@ €| 7w Aifm B

e % e @) quta & fe et
S T TR F90° F @ W fonfie w)
~ ®1 @ AnB w7 qular ® 7

(@) WK S @ wge—
(b) wEEgESt w1 AT
(©) ¥ = g

@ ot @ fiLaar

70.

T o, 3R y T A T
B A srfera fem sran @ ok frgsr
Eﬁmﬂaﬁwaﬁzaﬁaﬂmm%l _

- W T aRe T R ?

@ 2

v 22

() —2%_

@& =2
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71,

From a rectangular sheet of sides 18 cm
and 14 cm, a semicircular portion with
smaller side as diameter is taken out.

Then the area of the remammg sheet

 will be

72.

73.

{(a) 98 om?
(b) 100 cm’
(¢) 108 cm®

(d 175 cmé_

ABCD is a square. If the sides 4B and

-CD are increased by 30%, sides BC and

AD are increased by 20%, then the area
of the resulting rectangle exceeds the

‘area of the square by

@) 50%

®) 52%
(c) 54%
@ 56%

A water tank, open at the top, is hemi-
spherical at the bottom and cylindrical

_above it. The radius 1$ 12 m and the

capacnty is 33127 m’. The ratio. of the
surface areas of the sphencal and

- cylindrical pomons is

(a) 3:5

(b)_- 4:5

c) 1:1

@ 6:5

B-ABVB-O-GPU — A
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76

74.

75.

()

"The “areas of threé' mutually per-pendi-

cular faces of a cuboid are x, y, z. If
V is the volume, then xyz is equal to

(@) T?’

EECN S

(©) 27V
@ 21
Let V be the volume of an mverted cone

with vertex at origin and the axis of the
cone is along positive y-axis. The cone is

- filled with water up to half of its height. -

The volume og water is

@ Y
v .
6

.(0)_ E

- @

. Three fectangles.Rl, R, and R, have the

same. area. Their lengths x,, x, and x,

" respectively are such that x, < x, <x,.

If V,, ¥, and ¥V, are the volumes of

~ the cylinders formed from the rectangles

@
©

‘R, R, and R, respectively by joining the

parallel sides along the breadth, then
which one of the following is correct ?

Vrz <¥, <V .
V<V <V,

(c)
)

VI < V2-< 1,73

Vi<V <V,




71.

18 cm K 14 cmﬁlﬂmaﬁﬁ?ﬁ SATTERR

% fiemm formen e @ 1 o wh  w

WWW@‘"?

(a) 98 cm’

(®) 100-cm?

(c) 108 em?

(D 175 em?

72

73

. ABCD® = & | 2f} ymat 4B 4R CD

# 30% 3fg & g, st BC AR AD

A 20% 3ig A w1, @ aRomh s W
| e & Qe & R st g 2

(@) 50%

(b)) 52%

© 54%

(@ 56%

o I AR IR g f, Y R

atfiier & 3 IR ¥ IR 2 | wEh
B 2m® ek wwr 33122 m® R

_Wﬁhﬁ%mm%@%wh%m

-anagcrmam%?'

(a) 3:5

() 4:5

(o) 1:1

d 6:5

27

.
AR F, DR T A AW AR AT

x,y,z%!!ﬂémaap'% ?hmﬁmﬂa'
T W R

@V

® ¥

) 2V

(d) 21?
75;mﬁ&q%$~rﬁgmaﬂﬁaﬁ@
. lenta oF & e v R R sig ar
& AT y-\ F sgfew ® | i W

aafﬁmﬁmriaa;mﬁﬁmm%l
'Qﬁmmw%? |

av. ¥

_(b). c

Ch

@35 o
‘cﬁ?rana?ﬁ R, R, aﬁtR'«ﬂéﬁmm )

- 76

'@m%ﬁqmaﬁtﬁaﬁ%m

-%laﬁwmr %, %, R x, 76

mar € B x <x,<x,® | 3R
R, R, 3R R, i FI3TE arelt FwicL gonait

. aﬁvﬁwaﬂﬁnﬁéﬁ%mmw

@ v,<V¥ < v,

@ V,< V<V, _'
b V<V, <,
© V<v,<v,

Ve VaﬁtV%?ﬁﬁm%%aﬁ%Tﬁﬂ

mwa'eﬁ%?
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77.

If the surface area of a cube is 13254 cm?,

then the length of its diagonal 1s

(a) 4442 cm

®) 4443 em

78.

() 4742 om

@ 473 cm

The area of a trapezium is 336 cm’. If -

its parallel sides are in the ratio 5 : 7 and
the perpendicular distance bctween them
is 14 cm, then the smaller of the parallel

“sides is

(a) 20 cm _
® 2om
(c) 24 om |

- {d) 26 em

79.

80.

How many spherical bullets each of

4 cm in diameter can be made out of a

‘cube of lead whose edge is 44 cm ?

(@) 2541

® 2551

(©) 2561
) 2571

A river 2.5 m deep and 45 m wide is

flowing at the speed of 3-6 km/hour.

.. The amount of water that runs into thc

sea per minute is -

(a) 6650 m®

© () 6750 m’

(c) 6850 m?
(@ 6950 m’

B-ABVB-O-GPU - A
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C©

A M B

AR is a line segment of length 2a, with
M as mid-point. Semicircles are drawn
on one side with AM, MB and AB as
diameter as shown in the above figure.
A circle.with centre O -and radius # is
drawn such that this circle. touches all
the three semicircles. The value of r is

-Za
(a) ?
: « :
® 3

2

3.

a
(i) 7

From an external point P tangents P4
and PB are drawn to the circle as
shown in the above figure. CD is the
tangent to the circle at E. If AP =16 cm,
then the perimeter of the triangle PCD is
equal to

(a) 24 cm
() 28cm

© 30 cm

| (d) 32 cm




T

78,

Wﬁl@mmgﬁa TR 13254 o

(8 4442 cm
(b) 44+3 cm

{c) 477 em

@ 473 em

T FHeIS I GG 336 cm’ § | fe @y
FIR o 52 7 F o o € o o
i & 313?!‘6@ 14cm% A WA
gmaﬁﬁﬂ@ﬁaﬁna?rm-{w%7

(a) 20cm

() 22 cm

79.

| " {¢) 24 cm

(d) 26 cm

ik %"T@;Itﬁ' 4, fFreadht ET'IT_44cm%,
4 cm=® FH Fa Mg Wi s
AT gehat & ?

(@) 2541

(®). 2551

(c) 2561

80.
TR TR AT @R | T wm A

@ 2571 |
25 m TR A 45 m =) U 7 3-6km /

afemr St f6 Tz # whifiee w1 T @,

g ?

(a) 6650 m®

b 6750 m*
(c) 6850 m*
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~ PB:PC=1:2. DP and AB when both -

84.

()

)

In the above figure, 4ABCD is a parallelo-
gram. P is a point on BC such that

produced. meet at 0. If area of triangle

BPQ is 20 square unit, the area of
triangle DCP is ' :

(a) 20 square unit

(b) 30 square unit

" (¢) 40 square unit

(d) None of the above

Chord CD intersects the diameter AB of -

a circle at right angle at a point P in the

ratio 1 : 2. If diameter of cit_‘clc is-d, then |

CD is equal to
2

® =
(©)

234
3
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85. A circle of radius r is inscribed in a

" 86.

- regular polygon with » sides (the circle
 touches all sides of the polygon). If the

perimeter of the polygon is p, then the
area of the polygon is -

@ (ptny

® (p-nyr

or
(c)-2

(d) None of the above

The LCM of two numbers is 12 times
their HCF. The sum of HCF and LCM
is 403. If one of the numbers is 93, then
the other number is

() 124

o (b). 128

C© 134

87,

@ 138

The value of (0-63+0-37) is

@1

(©)

@

100
(b) ﬁ

100
3%

1000
999
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(a) Rs.1000

" (b)) Rs.1025
(@) Rs. 1050
@ Rs.1100

(@) 30
® 32
(c) 33
@ 35

y is

@ 16
® 17
© 18
@ 19

" . moves ?
@ 1600
®) 145°
() 150°
@) 155

88. A sum -of Rs. 10,000 is deposited. for
- 1 year at the rate of interest 10% com-
pounded half ‘yearly. What will be the -
"interest at the end of one year ? '

89, In a mixture of milk and -water ‘of
volume 30 litre, the ratio of milk and
water-is 7 : 3. The quantity of water to -

- be added to the mixture to make the .

. *ratio of milk and water-1:2 is

© 90. The difference of maximum values
of the expressions (6+5x-x") and
(y — 6 —?) for any real values of x and

91. A clocié' is started at noon. By 10 mihutcs
past 5, through what angle, the hour hand

- B-ABVB-O-GPU - A

32

92,

93,

The minimum vaiue of .

cos’x + cos’y — cos’z

1s . -
@ -1
® 0
(<) 1

@ 2

The value of

| 32cot2[£]_— 83@02(5) +-Scoé3(£) 3
| a) T3 6)

@ 33

94.

@

is equal to

@ 3
) 243

© 3

4

If x=—L  then the value of
RV .
1
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.9 |
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- 95,

96.

How many right angled triangles can.be
formed by joining the vertices of a
cub01d ? : :

(a) 24

® 28

(c) 32

(d) None of the above
The average -weight of students in a

class is 43 kg. Four new students are
admifted to the class whose weights

are 42 kg, 365 kg, 39 kg and 425 kg

respectively. Now the average weight of
the students of the class is 42-5 kg. The
number of students in the beginning was

@@ 10

® 15

() 20

@ 25

97.

B-ABVB-O-GPU - A

Four years ago, the average age of
A and B was 18 years. Now the

‘average age of A B and C is 24 years.

After 8 years, the age of C will be .
(a) 32 jfcaf_s
b) 28 years
(c) 36 yéars

(d) 40 years

98

99.

- 100.

@

{d)

If a vanable takes discrete values a +4,
a-35 a-25 a-3, a-2, a+05,
a+5 and.a—0-5 where a > 0, then the
median of the data set is

(a) a-2-5 .,
b) a-125
{c) a-15

(d a-075

"

If each of » number:‘;x =i(i=1,2,3,
...n) is replaced by (i + l)x‘,, then the
new mean is

n+3
2

nn+1)
(b} 5

© (n+ })(n +2)
3n

| (n+D)(n+ 2)
3

The weighted arithmetic mean of first
10 namral numbers whose weights are
equal to the corresponding numbers is
equal to

@ 7

® 14

CE

d 385"
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